Analyzing the Pots ,@//g/oy
o page |of 4

E Echelon
Reci;\z;d( Echelon all PivO‘rS‘f and. AL enkies in the

pivo+ col umn Ceijoi' (PWO*’) art 227

- \l Y\
¥ Queshons Lwhen o.system 15 1nconsistent (no solubo )

" A system is inconssfent F we
(n eckelon %Pm Qxl + OX; oo + OXp »6

l. A solubon is unigue (if 3) itk there Is no Qree variooles Cree
3 pPivot in euev\} corbumn of /1)) -
2, A solubon exists for every r«gi’)* stde 4 0 3 a )o?uof‘ in
row of A -
3. P solubon of AX =4 exists andk is unigue For Ay 6»
o F pivet in every row and cotumn,

-\7 =
Ve o o ‘
X,V + X2V r oot XnUp =V basis-exists + Uni q,uL

/:); E?. 3 t“\7ﬂ7

2,

I A 555%;” % ;_)70 is Jnead mdlxzzpeno@n?' U
A= 77, V01 have Fuots in ewveny colurmnin

Z.‘ A syskeen V7 V. s generabng I A has pivoks in
@Jf)(\é Yo

2.0 syskemn \7 . \'7n s e basis A has Pvok in
rpw ond cobumn, mrat

* Obé@.ﬁ”_ﬁ-ﬁ?”‘ Aﬂué« rowo or w’ﬁumn can bm </ vo
i EAVA RV : P
(}X%) ?Xé) are these Sour vechoes 11‘m€wlLé independlent ?
“ne - if joined tegetrac ond. do yvowo gperoNons  cannot

hawc more than 3 pivots (3 mwes) buk +Phere are Lo

i
Cchurmns So not ey coluurmn will have o pivot

WRISSR KORHUN

o v (ocovoool B) g#o



. Py Io'f)earlg independant systerm v T/)?m eR" PQQ/ /Z/of:
cannot %aue rMore. Hoom n vectors in 1F - % ° ;L
# of pivots £y = # oF LS
Piuok N CU&LU’Y)Y‘\ =5 # of colurnn = # of P'iuo‘rs &N
L. ﬁ”& Yenerobn (S(Pamni ) syskm 0 R” has akF leawst
g ) >y
h vectors N it
3. fny basis iq TR has exacH\.& n Vectoes i -

. Corro)lw\é of stadkement 3- T U .. 7, and &I, vy e
Are bases in v = =N

“Prove  inverhble Makcix ust be SgUare
A is Inverhble = A ..,»,ES Sgucre

I BN = T - AX = O s tenigur

BAX = BE
--s?
X0 => J pivot in eveny colurmn

*If pc= 1 then €@ solves A’?f«é}

p?JO"' n @U'CY‘% (D w)
© # of cwlurmns = # of rowos = Sguare
* Proposikon : mareix s i
and. colrermn

(o
{ “ : |
(300 ~ (3 5150 ~(£22150)-(59)1 )%
(521 % % | |
VU3 Y

/:}*l
A7'b sdues AR~
‘ -
’ /;)5?: &€, soluhlon ?JU@.S R’rsf c:olumn 6""
AX e’ solues second. cerbuimn

7 b = 3

verhble i 4 pivotia eueny row

-
Az = &

(method solves ol +hese eguabons %imdq‘aneou%(y)

r155h KORHUN




